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1. Assume that an individual’s demand curve for doctor visits per year is given by the equation P =90-100Q, where Q

is the number of doctor visits per year and P is the price per visits. Alternatively, suppose the marginal cost of each
doctor visit is $40.
(1) How many visits per year would be efficient? (3%)
(2) What is the total cost of the efficient number of visits? (3%)
(3) Suppose that the individual obtains insurance, and the coinsurance rate is 25%. How many visits to the doctor will
occur now? (4%) What are the individual’s out-of-pocket costs? (5%) How much does the insurance company pay
for this individual’s doctors’ visits? (5%)
(4) What is the deadweight loss caused by this insurance policy? (5%)

2. Please give your opinions on the following questions:
(1) If lump sum tax is efficient, why don’t governments use it? (7%)
(2) Does an income tax entail an excess burden? (8%)
(3) If the demand for a commodity does not change when it is taxed, does this mean that there is no excess burden? (10%)

3. Suppose the market for tennis shoes has one dominant firm and five fringe firms. The market demand is Q =400-2P.
The dominant firm has a constant marginal cost of 20. The fringe firms each have a marginal costof MC =20+ Sq‘.
(1) Find the total supply curve for the five fringe firms.(5%)
(2) Find the dominant firm’s demand curve. (5%)

(3) Find the profit-maximizing quantity produced and pI'lCC charged by the dominant firm, and the quantity produced and
price charged by each of the fringe firms. (5%)
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